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. The direct-mate

A. $750F
. The standard

ALS,

3. The dirvect-labor rate variance is

A, $7.8G0F.
4. The divect-labor efficien

2. The direct-material price
A, $8,000F.

A. $4,620F.
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CWhich o

Helevant
A MNe
53 Mo
i Yes
i Yes
14 {'?x‘am;*ax;”ﬁ”ﬂ‘m?m 5, & manufacturer
i’fm%’sg has the following
«m&“ manuiacturing
KJ xed manulacturing

Variable sellng
Fixed selling
Traceable fized administrative
Allocated administrative
The traceable fixed ad:
administrative cost iep
presented with a sﬁ;:ﬁ;mm
The proper relevant cost

A, 840. B. 559,

15, Product costs incurred before

TN Y s p s e oy
Th 5RO, £, some other araouns,

A. separable processing costs.  B. joint product costs. C.n
D. scrap costs. E. spoilage costs,

16. Which of the following stat

A. Work in process is partially complet

e

B. Work in process consists of din

C. Work-in-Process Inveniory is debited to record direct material used and direct labor i

ect labor, direct material, and manufacturing o

ements regarding work in process is aoi correct?

eiad Inven Hory.

erhead.

incurred,

D. Work-in-Process Inveniory appears on the year-end balance sheet.

E. Work-in-Process Inventory is credit

17. The following information relates

Production supervisor's salary: &

"}

Factory maintenance wages: 2

1o October:
$3,500

3 * «

The journal entry to record the preceding information is:




B,

i U

MMa m YeoETTy]

y}

E. Manuofaciur 5@&‘5

Work-mn-Progess
A aire B
%f\% &;Eﬁﬁﬁ g i

18, Fletcher, Inc.
goads sold. Prior to
anufacturing overhead was

r==$

d;&emm@ {1} Fletcher's adp

Adyusted C
of u@mﬁ* Sold

A $575,000
. E378,000
. B550,000
. $605,000
K, $605,000

19. Which of the foliowing che

system?
By By Time By Process or
Batch Period Dievartment
A Yes Yes Yes
B. e Yes Ng
C. No Yes No

D No Yes Yes
E, WNo No Yes

20. Kentucky Corporation uses a process-cost accounting system. The company adds direct

materials at the start of its production process; conv

throughout manufacturing. The firm has no beginning work-in-process inventory; i&s ending work

in process is 40% c&mpie‘mn Which of the following sets of percentages would be used to caleulate

&
‘ £
I

the correct number of equivalent units in the ending work-in-process inventory?

B

A. Materials, 40%:; conversion cost, 40%., B. Materials, 40%: conversion cost, 100%.

C. Materials, 100%; conversion cost, 40%. 100%; conversion cost, 60%.
E. Materials, 100%; mﬁwmi@m cost, 100%.

48 -2 TE (HARE]




21. Fiero Corporatior

evenly throughout 1

b VS TEY AN S e R
12,000 unifs m pre

units for the vegr total:

C. mateniats, 72,400; conversion

0. materials, 82,000, conver

E. materials, 82,000

22. Banta Fe Corporation bas compu
Direct material used
Dhirest labor
v mw*ﬁm manufacturing over!
ixed manufacturing overhead 46
‘%; ariable selling and adma
Fixed selling and adminisira

Which of the following che

costing and absorption ¢

Variable Absorption
Cosiing Costing

§79 3119
879 $131 |
395 5115
£96 Fi51
Some other combination of figures not listed a

oW

4

52

23. Economic value added:

A, is a dollar amournd rather than 3 percentage.

ital.

B. uses a firm's weighted-average cost of cay

C. uses total assets in its computation and ignores current liabilities.
D. cannot be negative
E. possesses characteristics "A" and "B" above,
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W E

B, some other period of

29, Clancy Van Lmes is ¢

mileage, these V‘“‘?W:i‘ S Are

1. Cost and book value of
2. Moving reven {

3. Operating costs of the new and old vehicles
4, New truck pure
5. Proceeds from sale of the ol
6. The 8% return on alterna

ase price and related de
vehicles

STyt
NEwW

sty

VS

trucks
7. Drivers' wages and fringe benefits

Reguired:

Classify the seven decision factors list
included in more than one category, or
categories): [ 16%}

A. Relevant information.

B. Opportunity cosis.
. Sunk costs.
D. Factors to be considered in the decision.






